Bellwork Geo  Thursday, February 6, 2020
Answer these PSAT/SAT practice questions WITHOUT a calculator.

5x+3y =38
x+3y =10

In the solution (x, y) to the system of equations
above, what is the value of x ?

7x—4=2(bx-3)

In the equation above, b is a constant. For what value
of b does the equation have no solution?

3Jx-6 =12
What is the value of x that satisfies the equation

above?
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Note: Figure not drawn to scale.

In the figure above, BD = 6 and AD = 8. What is the
length of DC ?



Bellwork Geo  Thursday, February 6, 2020 f7~/75w5/2_ B
Answer these PSAT/SAT practice questions WITHOUT a calculator.

5x+3y =38 7x—4=2(bx-3)

fdy=10 In the equation above, b is a coristant. For what value

In the solution (x, y) to the system of equations of b does the equation have no solution?

above, what is the value of x ? R e el
ESTrTe = o Solec e THE

34 =3% For- THERE To Bc AO
e 4 NVAIPAABLE  TERZMS 27 Sy CACEC

AND THE ZEMANING E@- MUST™ HE

What is the value of x that satisfies the equation

above?
3V X~ =12 ' Note: Figure not drawn to scale.

. 3 3 In the figure above, BD = 6 and AD = 8. What is the
; e 2 length of DC ?  AABD VA BCD

\ X“C/) -.-.('—/) (AA Theererm)

B
X =l
o +b

X’: ZL—7 \v; similon. B (orrespondl\vg
sy ang /impor-fvzmaa

o
=

SNy




